
CENTER BETWEEN WHEEL WELLS

LEAVE 1 ½”SPACE 

IF BEDSLIDE® DOES NOT CLEAR TAILGATE YOU WILL NEED LIFT BLOCK
KIT PART #FPLB1 TO COMPLETE INSTALLATION.CAUTION

CENTER BEDSLIDE BETWEEN WHEELWELLS

BEDSLIDE.COM | 888.807.0099 Page 1 of 4
REV 4.24.17

STEP 1.
CENTER BEDSLIDE® IN TRUCK BED.
Place BEDSLIDE® in truck bed and check for tailgate clearance. SEE CAUTION BELOW! Center frame 
between the wheel wells and leave 1 ½”clearance space between bulkhead and BEDSLIDE® frame. 
Once centered, mark mounting holes for drilling. Use pre-punched holes on cab end cross member 
and holes on the center cross member. 

GET TO IT.

ALUMINUM BED
INSTALLATION
INSTRUCTIONS

Supplied Hardware: (4) Aluminum riv nuts, (1) Riv nut tool, 
(4) 5/16 x 2” hex head bolts, (4) 5/16 split lock washers, 
(8) 3/8 flat washers, (2) 3/8 x 2 ½” bolts, (2) 3/8 nylock nuts 
(2) nylon sleeves, (2) 5” x 5” mounting plates.

Tools Needed: Drill, 7/16” & ½” drill bits, permanent marker, 
tape measure



Check under vehicle to make sure you do not 
drill into fuel tank, wiring, spare tire, frame etc. Caution

STEP 2.
DRILL MOUNTING HOLES.
Once centered, slide the unit out past the center cross member. SEE CAUTIONS BELOW!
Using the pre-punched holes in the cross members that best suit your application, mark 
and drill (2) 7/16” mounting holes through the bed on the cab end. Then mark and drill
(2) ½”mounting holes through the bed at the center cross member.  
 

BEDSLIDE.COM | 888.807.0099 Page 2 of 4
REV 4.24.17

    SLOWLY MOVE UPPER TRAY OUT FROM CLOSED POSITION AND AVOID
    SHIFTING HOLE PLACEMENT. USE CAUTION WITH NON-MOUNTED 
    BEDSLIDE®

CAUTION

7/16”

½”



BEDSLIDE.COM | 888.807.0099 Page 3 of 4
REV 4.24.17

STEP 3.
INSTALL (2) ALUMINUM RIV NUTS.
Remove the BEDSLIDE® and install (2) Aluminum riv nuts through the (2) holes drilled closest to the 
front bulkhead of the bed as pictured below. PLEASE NOTE: Holes drilled to the center will not take a 
riv nut! Insert the (2) nylon sleeves through the two remaining holes in the bed.

X2

Truck bed

Riv nut tool

5/16 x 2” bolt

Riv nut anchor

DO NOT OVER TIGHTEN. DO NOT USE AIR IMPACT TOOLS WITH RIV NUTS!
CAUTION



BEDSLIDE.COM | 888.807.0099 Page 4 of 4
REV 4.24.17

STEP 4.
BOLT DOWN BASE FRAME.
Place BEDSLIDE® in truck bed and extend past the center cross member to acess the mounting holes. 
Bolt unit down at the cab end at each corner using 5/16” x 2” bolts into the flush mounted riv nuts. 
Next insert 3/8 x 2 ½” bolts with 3/8 flat washers down center cross member holes and into the nylon 
sleeves in the bed. Lastly, you will need to attach the supplied 5” x 5” mounting plates to the 3/8 x 2 ½”  
bolts from underneath the truck bed and fasten with a 3/8 flat washer and nylon locknut. 
Tighten nylon locknuts.

UNDERSIDE OF 
   TRUCK BED

TOP SIDE OF 
 TRUCK BED

MOUNT PLATE

X2

Nylon Sleeve

THAT’S IT! YOUR BEDSLIDE® IS INSTALLED. NOW YOU CAN ACCESS YOUR GEAR
SAFELY AND SECURELY. THANK YOU!


